An Najah University – Faculty of engineering

Communication Eng. Department

System and Signals

Instructor: Jamal Khrousheh                                                          2nd. hr exam
                                                                                                                                                     15/4/2010
 Question #1(10marks)
  a) Compute the convolution for the following pairs of signals

              x(t) = u(t+1) – u(t-3)

              h(t)= e -2t u(t)
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 b) Suppose that X (jw) is depicted in figure below
        sketch the spectrum for y(t) given by:
         1- y(t)= cos(t/2)x(t)

         2- y(t)= cos(2t)x(t)

         3- y(t)= d/dt(x(t))

Question # 2(10 marks)
 a) The input and the output for a system related by the differential equation
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     1- Find the impulse response of this system

      2- What is the response of this system if x(t) = e-2t u(t)

b) Consider a system whose response to input
           x(t) =  e-t u(t)

     is 

            y(t) = [ 2e-t – 2 e-4t]u(t)

      1-Determine the system impulse response

      2- Find the differential equation relating the input and output of this system.
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� EMBED Equation.3  ���
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